It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
REEMRENER LR, SFEENTHES ECTN 8477 WEMEAZE
1K ECT ENTRERTIFR. ECTN 8477 BRAMNREEE (25 £
+125°C) WURBESMAEMEGNEGCERBEAS R T ATHRE
{FSTHRERRR S R

dlaly

FZF

o S
5 kuilElE

ECTN 8477

FERR

NEEEEL100ZE
HENNRESE

M EE LW EDNE
HAEIEE

1 R % T

RAIE

MERE G Er HEE @ +25°C HAYE +0.3%FS HA(E
(£ 0.5%FS BaBY(E, + 1% FS BaBL(E)
WETE 0..0.1%0...250 bar NRERE -25°C ... +125°C
0..1.5%0...3000 psi
BLES 4..20mA FERE -25°C... +125°C
NLH @ 25°C (BSL) #a74(E +0.2% FS 8188 HE/ B DNV-GL EU RO Mutual Recognition Type
(£ 0.3% FS HE(H) Approval Certificate
Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

11/2023

HuER HT2322r

EEE SR



METE Y EE
[bar]

0.

@la|les|a|=|= |2

= | =2

0.1
..0.16
.02
.04
0 O
o ILfD)
o ILfD
.25

.6

0..10
0..16
0..
0
0

25

.40
.60

0..1004
0..160%
0..2504
%ED 5P:

0.

.25

0..4

0.
0.

6

.10
.16

0..25%
0..40%

0..

6012

felka HIREME

MEXES, 7 ENHO / Sh5e

(AISI316L)

X ER, M8 ED8EO [ %
)

HEXED, M ENHEO ) 5%
S34ES, M ENRED [ 9%

(AISI316L) 3

BXEN, 18 ENHEO /S5
3) 4)
BIER, M8 ENERA [ S5k

EA#EO G1/4" iz 4
G1/4"JMES

[bar]

120
200
320
500

12.5
20
30
50
80

125
200
300

G1/2" §MELL DIN3852-A %

G1/2" §MBL DIN3852-E 4 13
1/4" NPT 4hgsy 4

1BRED
[bar]
2 66
2 67
2 68
2 69
3 70
3 71
4.8 73
7.5 75
12 76
15 7
25 78
40 79
75 80
100 81
180 82
300 83
480 85
750 74
AfE3E
18 55
30 56
48 57
75 58
120 59
180 60
300 61
480 62
: 1.4404/1.4435
: 1.4462 (AISI318LN)
(RS AT Y
: 1.4404/1.4435
: 1.4462 (AISI318LN)
(FRS AT Y

7/16"-20UNF-2A JMBLY, SAE J1926-3 (3E!) 4
R1/4" §ME4Y, DIN3858

G3/4" HifRAE 4 ©

H72322r

EE BE
[psi] [psi]
0..15 15
0..2 15
0..25 15
0..5 15
0..10 20
0..15 30
0..20 40
0..30 60
0...50 100
0...100 200
0...150 300
0...250 500
0...400 800
0...500 1000
0...1000 2000
0..15004 3000
0...2000 4000
0...30004 6000
REREMEN
MEXSES, M EAEO /SR
(AISI316L)
f)ﬁl?&j]’ M EAEO /S
MEXSES, M EAEO [ SR

BXES, MR ENED [ SR

(AISI316L) 3 10

BXET, M EDREO [ 9%

3) 4) 10)

BYEN, M8 ENERA [ SR

T 2/9

1RIED
[psil
30 F6
30 F7
30 F8
30 F9
45 GO
45 Gl
70 G3
90 G5
150 G6
250 G7
375 G8
625 G9
1200 HO
1250 H1
3000 H2
4500 H3
6000 H5
9000 G4
: 1.4404/1.4435
: 1.4462 (AISI318LN)
(FRSHEEIW
: 1.4404/1.4435
: 1.4462 (AISI318LN)
(FRSHAEE I

ECTN 8477

8477. XX XX XX XX XX XX

10
17
21
41
30
42
19
52

sensors <0 controls



ECTN 8477

8477. XX XX XX XX XX XX

HSIED $E$HESK EN 175301-803-A, ##} PA, -25°C ... +90°C 05
EEHESL M12x1, 5 5, PBT #4%t 35
345 Raychem, $240EB4E#ESK PA 6-3,-20°C ... +100°C 7 89 08

RilES RES k| 1 (fie8) U (fte8)
4..20mA (U f£EE9V)/20 mA 9..30VDC 19

fofF B34 FKM (-20°C ... +125°C) 61
254§ EPDM (-25°C ... +125°C) 63
HEFLHEKEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, X F ERASEZ 4 ... 9 mm, Bk 52 UL94-V0 46
FEFLHEKEN175301-803-A (DIN 43650-A)/REMIAS, -40°C ... +125°C, W FEBAER 4 ... 9 mm, P52 UL94-VO 56
BT HELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST F EBAEER 4 ... 9.5 mm, BAA 5 2 UL94-V2 58
$HFLEEK M12x1, 5 5 33
FEAEEFE T ¢ 0.4 mm, #111.4404 9 44
FEAEEEETH ¢ 1.0 mm, ##11.4305 9 40
WPBILHR A 1+ 5 2 0
(IVHIES 4... 20 mA FE3 8RSk EN175301-803-A / DIN43650-A)
YRS | &R R 1+, 15 3 -, 4 1t -
(UatfES 19 MEg8 AL 35, M12x1, 5 5)
BAKE 1.5m M
BAKE3.0m 3M
BAKE 5.0m 5M
B SIEOMSNSIEE EN175301-803-A (DIN43650-A), BB RREE (BA 85°C) L9
%Y VM

VEFESESEENZEDE, SHER "EHEE"

3 He3SEEIRA 40 bar

4 B {#iA[n]

S RERFEHEO 10,52

5 FF 12 %28 56, 50, 51, 86, 80, 81 (HREHME) #l E/15EE < 25 bar 400 psi
EBEKESIMH (RA K 50 K, 5 KA—F)

9 1P68, &1<3m, 7B +10°C ... +35°C

) BHKE RA 3m BFEIERE < 16 bar

192> 1 bar

WITEHENTZ 50 KIEE

LY BFEEREAMEA T RS

13 HRIESAE J1926-3 (RE) fRf, MESEERAR350bar

n ETNEEE  HHEEE A BET 0 bar (5130 -1 bar - 0 bar) .

n N FEER RS, BIR2LME E1000mbar (EX1HE)

n REBE:XTTF 0 bar UTFHUEERE, 55 4 ... 20 mA(f£58 19), 1 ... 6 VDC (XF5 16) &1 0 ... 10 VDC (KE3 17) , BRI LUHT R AR AL 5 557 0 bar,
ES4 RN -1 bar, I ERRHHERE.

R im (R GEHAPRARAE)

ERs HRKH ENER BAEE WiHES fitd
[bar] [bar] [VDC]

ECTN1.0A 8477715917 05 0000 0000 19 58 61 0..1 2 4..20mA 9..30
ECTN2.5A 8477 755917 05 0000 0000 19 58 61 0..25 5 4..20 mA 9..30
ECTN4.0A 8477 76 5917 05 0000 0000 19 58 61 0..4 8 4..20 mA 9..30
ECTN6.0A 8477 775917 05 0000 0000 19 58 61 0..6 12 4..20 mA 9..30
ECTN10.0A 8477 78 5917 05 0000 0000 19 58 61 0..10 20 4...20 mA 9..30
ECTN16.0A 8477795917 05 0000 0000 19 58 61 0..16 32 4..20 mA 9..30
ECTN25.0A 8477 805917 05 0000 0000 19 58 61 0..25 50 4 .20 mA 9..30
ECTN40.0A 8477 815917 05 0000 0000 19 58 61 0..40 80 4..20 mA 9..30

H72322r 75 3/9 sensors & controls



ECTN 8477

BIENY RAEN? =)\ BIEEE BA BIEEE BE Rig
-1 1 205 <12 2 21
-1 2 =038 <2 32 22
-1 4 =2 <45 8 24
=1l 6 >4.5 <7 12 25
-1 10 >7 <11 20 26
=1l 16 >11 <17 32 27
-1 25 >17 <26 50 28
-1 40 >26 <41 80 29
-1 60 >41 <6l 120 30
Al 100 >61 <101 200 31
-1 160 >101 <161 320 35
=1 250 >161 < 251 500 32
-1 400 >251 <401 800 34

FrEENBMIAE

1) &NEN= REER, BEHNER EXNE)
2) RRES= BEXRGENRSES (EE)

EHERTSREMRIEER

BIMESY BAEH? & BEERE BA BEEE HE RE 83
-0.4 0.6 20.1 <0.2 1.2 1.0% 21
-0.4 0.6 =202 <0.5 12 0.5% 21

-1 1 205 <12 2 0.3% 21
-1 2 =12 <2 32 0.3% 22
-1 4 =2 <45 8 0.3% 24
-1 6 >4.5 <7 12 0.3% 25
-1 10 >7 <11 20 0.3% 26
-1 16 >11 <17 32 0.3% 27
-1 25 >17 <26 50 0.3% 28
=l 40 >26 <41 80 0.3% 29
FREENBAIAE

1) ®NEH= REER, BENER (EHE)
2) BRES= BERBNERES (EXE)

H72322r TIkg 4/9 sensors@controls



ECTN 8477

RBARE

B EIE BHiES [ HBBE 4...20mA: 24 (9....30) VDC
EFtedial BAME 1 ms/10...90 % FEES
EBIbR 100 ms
RERERF, 5BRKEE @ 25°C,5 A 4.20mA: E U =30VDC
MR NREE -25°C... +125°C
MERE R -25°C... +125°C
hitiat &l IP65, IP67, IP68
TE IEC 60068-2-30 (;E##, 1&3F, 100 % RH @ +55°C)
x5 20 g (10...2000 Hz)
& 50g/3ms
EMCHEFRAMY iggt EN/IEC 61000-6-3
mFH EN/IEC 61000-6-2
Wi ZRk3s (RN R) Fa%, ALO, (96 %)
EHE00 (A R) 59/89: 1.4404/1.4435 (AISI316L)
52/82: 1.4462 (AISI318LN)
53/83: E& 5 (kEE
s 59/89: 1.4404/1.4435 (AISI316L)
52/82: 1.4462 (AISI318LN)
53/83: £ 5 HhAS
2l FKM 70 Sh, EPDM
HEEHE SIITHER
58 ~110g
REHE 15..20 Nm
U BNBREE
BE
(2573 32553
59/89/52/82/53/83 56/86/50/80/51/81
EhNEER [bar] >0..1 >0..0.3 >0..0.2 >0..0.1
<0..0.3 <0..0.2
Option 5P (Codes 55-59)
[psi] >0..15 >0..5 >0..25 >0..15
<0..5 <0..25
BIZEH @-25...485°C [% FS BaRL(E] +3.0 +10 +£20 +3.0
BE @+25°C [% FS ELRI(E] 105 +0.3 105 *+1.0
NLH @ +25°C (BSL) [% FS ELEIF] +0.2 +0.2 +0.3 +0.3
TC ZRRBMERTRE [% FS/K a8Y{E] +0.03 +0.02 +0.02 +0.02
1 ERKPRE @ +25°C [% FS Ba8UE] +0.3 +0.2 0.2 102
H72322r g 5/9 sensors & controls




{£/2%23% 56/86/50/80/51/81
0..0.1%0...0.16 bar

7

6

5 = -

4 -~ — ..

3 ~ P .
= 2 — ~—1— [ .
. — [ — :
=
g o | S S E S ol —d—=d- — ] — ]
E 3
< 2 —

S — == —

h — ~|—

s — —

6

7

-40 30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130

max. — —  typ. —— O TEB(-25...+85) Temp. (°C)

f&=%2% 56/86/50/80/51/81
>0...0.4 bar

7
6
5
i
3 = —
< 2 = _——
. et O WS
S L 1|l T+t T T/l 1 1 [.]
S 1 = —
£, —= = —
— T —l—
5 [ I
4
5
6
7
40 -30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
max. — —  typ. —— [J TEB(-25...+85) Temp. (°C)
H72322r

ECTN 8477

£33 56/86/50/80/51/81
0..0.2%0...0.4 bar

7

6 v

. .

: - :

3 -~ .
g ——1"T :
z . .
o 0 o N R S S
g - .
I 2 — |

3 il -

n -

5

6

7

40 30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
max. — —  typ. —— I TEB(-25..+85) Temp. (°C)

{&£=%2% 59/89/52/82/53/83
=0...1bar

10
9
8
7
6
5 P~ =
4 S
—_ : — ~ L — —
g — —
= T~
e ] ] = = s e e B e e
g, N
3 —1 r ~ | —
4 L ~|
5 >
6 ™~
7
8
9
10

40 30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130
max. — —  typ. —— [ TEB(-25...+85) Temp. (°C)

sensors <0 controls



R~

8477 . XX.XXXX.05.XX. XX

33.2 21
~| o~
% gg N 1.4305
T
84T77.XX.XX52.35.XX.XX

40 21
e~ 1.4305
SR
QT vl &

8477 . XX.XXXX.35.XX. XX

cable length

33.8
EX32

027

[SYj==

84T77.XX.XX52.35.XX.XX

15

84T77.XX.XXXX.08.XX. XX

16 31-32

0245

=
N
el
(S
<
<
S

355

N
(o=}

with male thread

0G3/4"
9113-012.5

0O-Ring /

020x1.5

Sealing DIN/ISO 3869
23.9x29.2x1.5

8477.XX.XX52.08.XX.XX

027

H72322r

021/0245 |

1

048-06.2

g 7/9

ECTN 8477

sensors <0 controls



R~

021
G1/4"

12.5 &@ 29.5

HEX27

847T7.XX.XX10.XX.XX.XX

151 2

M5x7
N

1/4" NPT 1
L

84T77.XX.XX30.XX.XX.XX

11.5

Bore

M2:1
N

12,2
1

==

v =

=l o Seal
DIN3869

8477 XX.XX17.XX.XX. XX

14.5
9 .23
0-Ring
08.92x1.83 |
M5x7
7/16"-20UNF

SAE4 (J1926) 3295

HEX27

8477.XX.XX42.XX.XX.XX

16  31-32 with male thread

N
o

fiis | B
Rals | ¥ &

#23H8
I

16

G3/4"

847T7.XX.XX52.05.XX.XX

54...60

84TT . XX XXXX.XX.XX.33

H72322r

G3/4"
9113..012.5

3

O-Rin

(020x1.5
Sealing DIN/ISO 3869
23.9x29.2x1.5

0338
HEX32
027

5.5 27
S

[ |||
[
L

37

TXIT

TR

1)

M3

1)Tightening torque 50...60 Nem

8477.XX.XXXX.XX.XX.46/56

oiHg 8/9

DIN3852-A

M5x7

8477 XX.XX21.XX. XX. XX

8477.XX.XX19.XX.XX.XX

5.5 27

36

M3

1)

)

1)Tightening torque 50...60 Nem

8477 . XX.XXXX.XX.XX.58

ECTN 8477

(28.5)
143115

029.5
HEX27

Seal
DIN3869

8477 . XX.XX41.XX.XX. XX

sensors <0 controls



BSiEO
PP ESER
1P65* IP6T*) IP68 max.3 m
TAbtngE M12x1 **) FR4E**
EN175301-803A**) 5-1%
05 35 08
g 3 2
5
(D13 L) ==
4
‘ 1
IR 92 G9
P -—I‘:}—(-D Us (pos. Supply) 2 1 4 1 FARE]
4—20mA'_:_:_@ Us (neg. Supply) 1 2 1 3 26
| l—-—(—'—@ Earth (housing) C] ©] 5 4 =)
T Shielg**®
84TT .XX.XXXX.XX.19

X EREIRME R R BRTLECSL BN
) @ Sk R AHES
N BT ST R O AR L K

X IR www.trafag.com/H72322
1RIERBEH www.trafag.com/H73324
INRF www.trafag.com/H70688

H72322r D185 9/9

ECTN 8477

sensors@ controls



